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(DThere are two game plans to improve your chances of winning at Janken.

@These game plans are based on people’s physical and mental characteristics.

(First. show “paper” in the first round. @Because of the structure of the human
hand, it is easiest for people to show “rock”. ®When players really want to win, they feel

nervous and as a result, they tend to show “rock”. ®The possibility of your winning becomes

greater when you show “paper”.

(DNext, show “rock” if the first round was a draw. ®This is because players do not
like to show the same form twice. ©@People who first used “paper” tend to show “rock” or
“scissors” next. (0This means that at least you will not lose if you show “rock”.

(DHowever, you may have a problem when your rival also knows these two game plans.

(2Janken seems to be simple, but actually it is complicated, isn’t it?
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(DThe “leap week calendar” has been proposed to replace our present calendar with 365 days. @

Our present calendar has a “leap day” every four years. @One problem with the present calendar is
that the same date does not fall on the same day every year, so the day of the week changes every year.
@The leap week calendar has 364 days in a year and an extra week at the end of December every five
or six years. ®This calendar fixes each date to a certain day of the week, so it offers some benefits for
scheduling events. ® ( ) , there are some problems to overcome before the new calendar can

be introduced. (@The idea of the new calendar gives us the chance to think about time.

FEARDEBH ( )
M1 FEYY -E2UTUR (HIDERS>TSGX) ZBSTEZRIL, ( )
2 OOXDESIRETIEHFRBELTVINEBESTERALGEILY, ( )
ff13 leap week calendar DF| R ERRTNEIXEBETEAL LY, ( )

4 ®DOXD () RIHESIEBELLTRLELELGLDEEY. TETEALSIL,

a) However b) Because c¢) So d) Forexample ( )
15 XEZ2HD2A FLELTRVEBEYVGLDEEYS, BB TEALGSIL,

a) The Leap Week Calendar b) Our Present Calendar ¢) Scheduling Events

d) The Chance to Think about Time
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(DA new calendar, / called the “leap week calendar”, / has been proposed / as an alternative to

our present calendar. / @Today / our calendar has 365 days, / and one extra day, February 29th, /
every four years. // Gt is called a leap day. / @The reason why we have this leap day is / that it
takes about 365.24 days / for the earth to orbit the sun. / @By having an extra day / once every
four years, / we can account for the time / not covered in the 365-day calendar. /

2] ( )

(©One problem with the current calendar / is the alignment of dates / with the days of the
week. // @MThat is, / the same date does not fall on the same day / every year. // ®So / if your
birthday is January 10th, / it might be on Monday this year / and Thursday some other year. //

3] ( )

@The leap week calendar fixes each date / to a certain day of the week. / (0For example, /
New Year’s Day would be on Sunday / every year. // @DAccording to this calendar, / a year consists
of 364 days, / and an extra week is added / at the end of December / every five or six years. / 12This
week is called a “leap week”. // 13The addition of a leap week / every five or six years / keeps the
seasons and months aligned / as they are now. / @One good point of this calendar is / that schools
and companies / can make their schedules more easily. / @®For instance, in schools, / the first day
of a semester / could be held on the same day / every year. / (®Furthermore, / companies can easily
follow the same schedule. //

[4] ¢ )

(DHowever, / introducing this calendar will not be easy. / @9First, / we cannot change the
calendar / unless all the nations in the world / agree to the new system. //i9Second, / with the
inclusion of an extra week, / it is not clear / what we should do / about salaries and rent payments
/ during that period. /

5] ( )

@While the leap week calendar offers / some benefits for scheduling events, / having holidays
on different days of the week each year / creates a nice variety / in our daily lives. / €)The idea of
a new calendar / gives us a chance to reconsider / what we take for granted / about the concept of
time, //
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MDA new calendar, / called the “leap week calendar”, / has been proposed / as an

alternative to our present calendar. / @Today / our calendar has 365 days, / and one extra day,

February 29th, / every four years. // It is called a leap day. / @The reason why we have this

leap day is / that it takes about 365.24 days / for the earth to orbit the sun. / ®By having an

extra day / once every four years, / we can account for the time / not covered in the 365-day

calendar. //

@ ®One problem with the current calendar / is the alignment of dates / with the days of the

week. // (DThat is, / the same date does not fall on the same day / every year. / ®So / if your

birthday is January 10th, / it might be on Monday this year / and Thursday some other year. //
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@A new calendar, / called the “leap week calendar”, / has been proposed / as an alternative

to our present calendar. //

@The reason why we have this leap day is / that it takes about 365.24 days / for the earth to
orbit

the sun. //

[Reading Task 3 : TF Questions
AXOABIZESTDITET, AHHEVEDICIEF EB5ZBEL, HHOBMEL >T-BEEX
BFESLANG I,

1 The leap week calendar has been used for a long time.

( ) Bk ( ) X&BES( )
2 The purpose of a leap day is to follow the movement of the earth.
( ) B% ( ) X&BS( )

3 One problem with the current calendar is that a certain date falls on different days of the
week.

( ) B ( ) XEBES( )

[Reading Task 4 : Summary|
AXDENICTHEDKIIT. ( ) RITEYLGEEANGEL,

The “leap week calendar” has been (1 ) to replace the present calendar.

Today our calendar has 365 days, and one (2 ) day every four years. It is
called a (3 ) day. The reason why we have this leap day is that it takes about
365.24 days for the earth to (4 ) the sun. By having an extra day once every
four years, we can (5 ) for the time not covered in the 365-day calendar. One
problem with the current calendar is the alignment of dates with the days of the week. That

is, the same date does not (6 ) on the same day every year.
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forget the fact. / @However, / we might not be able to receive their blessings / in the near

(DWe rely a lot on nature. // @We even benefit from small creatures, / although we often

future. // @Let’s look at the examples / of honeybees and sparrows. //

2]

crops. // ®©However, / since the 2000s, / a large number of honeybees / have disappeared

(®Honeybees play an important role / in the pollination / of various fruit and vegetable

suddenly / in many parts of the world. / (D Scientists warn / that several factors / which
negatively affect bees / may be coming together now. / ®Some of the possible factors / are the
use of pesticides and air pollution. //

It is said / that one third of what humans eat/is pollinated by bees. / (0An expert says,
/ “Humans have mistakenly believed / that in the 21st century / technological advances free
humans / from relying on nature. / @We need to recognize / that we all depend more, / not
less, / on nature / in a world of over seven billion people. / @2And bees cannot be replaced so
easily.” //

damage crops. / @®®Some experts estimate / the current sparrow population is 18 million, /
which is less than half of that / around 1990. / @91t is certain / that something is happening /
to the sparrow population. / @This phenomenon may be due to the recent decreases / in rice

@3The sparrow population is also decreasing / in Japan. / @The birds eat pests / that

fields and farmland, / which result in less food for sparrows. // (9Another cause may be a lack
of places / to make nests. / @9Traditional houses had many gaps / around the roof / which
allowed sparrows to make nests. / @But today’s houses have fewer gaps / for them to do so. //
@DIf the number of sparrows continues to decrease, / the number of pests might increase, / and
this might affect food production / in the future. //

5]

2)Although they may be small, / they are very important. / @Their disappearance might be a

@We should remind ourselves / of the importance of small creatures / living around us. //

silent message / for human beings. //
® [Reading Task 1|
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There are two game plans to improve your chances of winning at Janken. These game

plans are based on people’s physical and mental characteristics.

First, show “paper” in the first round. Because of the structure of the human hand, it is

easiest for people to show “rock”. When players really want to win, they feel nervous and as a

result, they tend to show “rock”.  The possibility of your winning becomes greater when you

show “paper”.

Next, show “rock” if the first round was a draw. This is because players do not like to show

the same form twice. People who first used “paper” tend to show “rock” or “scissors” next. This

means that at least you will not lose if you show “rock”.

However, you may have a problem when your rival also knows these game plans. Janken

seems to be simple, but actually it is complicated, isn’t it?
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@D These two game plans in this passage are based on ( ).
1. the structure of the human hand
2. people’s physical and mental characteristics
3. people’s chances of winning in the second round
@ In order to improve your chances of winning at Janken, you should show ( )
first.
1. “paper”
2. “rock”
3. “scissors”
@ “Rock” is the easiest form for people to show. This comes from ( ).
1. two game plans for Janken
2. the structure of the human hand
3. the possibility of their winning
@ If the first round was a draw, you should show “rock.” This is because ( ).
1. it is easiest for you to show “rock”
2. your rival does not want to show the same form again
3. your rival knows these two game plans for Janken
® Which of the following statements is true? ( )
1. When players are eager to win, they usually show “paper”.
2. Players do not want to show “scissors” because of the structure of their hand.
3. Players may not be able to win so easily when their rival also knows these game

plans.
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These days, there are more and more laughter therapists in Japan. They are not doctors,
but they help their patients get better through laughing. They have to follow at least three
rules in their work.

First, laughter therapists must laugh at least five times a day. They have to look happy
to make their patients relaxed.

Second, the therapists need to understand each patient well. Each person’s situation is
unique. So, they often spend a lot of time getting to know their patients well.

Finally, the therapists should not try too hard to make their patients laugh. Their goal is
not to make their patients laugh a lot. Their final goal is to make their patients feel better. In
this way, they are different from comedians.

By following these three rules, laughter therapists can cheer up their patients. They play

an important role in making their patients healthy without medicine.
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(@D Laughter therapists help ( ).
1. doctors feel better
2. patients become healthy
3. nurses look happy

@  Laughter therapists need to look happy ( ).
1. to make their patients follow three rules
2. to make their patients feel better
3. to know their patients better

@ Laughter therapists are different from comedians because ( ).
1. the situation of laughter therapists is unique
2. laughter therapists make their patients laugh a lot
3. the goal of laughter therapists is to make patients feel better

@ Laughter therapists can make their patients feel better ( ).
1. thanks to medicine
2. by following the rules of their work
3. with the help of doctors

® Which of the following statements is true? ( )
1. It is important to understand each patient because each person’s situation is not so

different.

2. 'The laughter therapist’s job is to make patients relaxed.

3. Recently in Japan the number of laughter therapists has been decreasing.
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Many wild raccoon dogs live in central Tokyo. You might be surprised to know this fact.
Usually, as a city becomes bigger, wild animals are pushed out of their original homes. How
can raccoon dogs live in such a big city?

First, there is a lot of food for raccoon dogs in Tokyo. For example, there is a lot of food
waste in Tokyo which they eat. There are also many insects there.

Second, raccoon dogs have many kinds of places to hide themselves. Large temples,
shrines and parks can be good homes for these animals.

Third, there are many places where there is almost nobody at night. Examples of these
places are office areas and college campuses. Raccoon dogs can safely move around these areas.

In fact, wild raccoon dogs have lived in central Tokyo for a long time. They can survive in

Tokyo even though the city changes.

*raccoon dog * * *+ A XF
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